V1200 Series
Quick Installation Guide

Version 2.0, July 2025

Technical Support Contact Information
www.moxa.com/support

© 2025 Moxa Inc. All rights reserved.

P/N: 1802120000002
{0 OO



Overview

The V1200 Series computer is an Arm-based compact computer
offering a rich variety of communication interfaces, such as Ethernet,
serial, and wireless communication. This EN 50155-compliant computer
is built for rail applications and comes with multiple wireless interfaces
making it an ideal choice for building wireless communication
infrastructure such as LTE, 5G and Wi-Fi 6.

Package Checklist

Before you install the V1200 Series computer, ensure that the package
contains the following items:

e V1200 Series computer

e Wall-mounting kit

e Quick installation guide (printed)
e Warranty card

Panel Layouts

The panel layouts of the V1200 models are given below:

V1202-CT-T
Grounding
Connector
LEDs x 2 |
(Power, System) Power Input é

" (24-110VDC) [ﬂ b1
LAN Ports x 2
(10071000 Mbps, M12)

USB Port

(2.0, Type A)

| MicroSD Card/
Console Port

Reset Button

V1222-CT-T
Grounding
Connector
|
LEDs x 2 b
P Input
(Power, System, SIM) - (231"_"19.{ On\F/)DC) ﬂ &
LEDs x 4
00 Mb) LAN Ports x 2
(10071000 Mbps) - :I (100/1000 Mbps, M12)
LEDs x 3 Serial Ports x 2
(Wi-Fi Signal Strength) | USB Port (RS-232/422/485, DB9)
LEDs x 3 - (2.0, Type A)
(Cellular Signal Strength) | SIM Card/
LEDs x 2 MicroSD Card/
(Serial P1/P2) Console Port Lw

Reset Button



V1222-W-CT-T

LEDs x 4
(100/1000 Mbps)
LEDs x 3
(Wi-Fi Signal Strength)
LEDs x 3
(Cellular Signal Strength)

LEDs x 2
(Serial P1/P2)

LEDs x 2
(Power, System, SIM)

LED Indicators

Power Input Grounding
(24-110 VDC) Connector
GNSS Antenna !
Connector $
LAN Ports x 2

(100/1000 Mbps, M12)

Cellular Antenna

Connector x 4 Serial Ports x 2

(RS-232/422/485, DB9)
USB Port
(2.0, Type A)
Wi-Fi Antenna
Connector x 2 [w
SIM Card/

MicroSD Card/
Console Port Reset Button

Refer to the following table for the LED indicator definitions.

;zze Color ;ItE:tus Description
PWR Green |Steady on |Power is on
Off Off No power
Green |Steady on Device has bootgd succe§§fylly
(all system services are initialized)
Green |Blinking Device is in the process of booting up
sYs Device boot up failed
Red Steady on |(one or more system services failed to
initialize)
off off The device is still in the bootloader stage; is
not booted into the kernel yet
Green Steady on |100 Mbps Ethernet link
Blinking Data is being transmitted or received
LAN vellow Steady on |1000 Mbps Ethernet link
Blinking Data is being transmitted or received
Off Off The Ethernet cable is disconnected
Dimensions

Wall Mounting (default)

Unit: mm

190
150

1901 8205
= 4-@7
o of@
° -] o O
o] o]
o]
o (-]
TSSO (O




Desk Mounting (optional)

Unit: mm
H 00 ©®
=
< N~ = o ©
0 ~ o =)
- ik =
o o
o o ©
B 11/ I
22.5
DIN-rail Mounting (optional
Unit: mm 146.9
1371
120
a
00 00 @
o o
o Sl
o «©
9] u <
A o)
N -
Yo}
N
©
o] N~
o o
U O

Installing the V1200 Series Computer

NOTE For IP40 compliance, the cover of the SD card, SIM card, and
console port, should be secured properly with screws.
Ensure that the USB port is covered with the rubber cap if it is
not in use.

The V1200 Series can be mounted on to a DIN rail, a wall, or installed
on a desk. The wall-mounting kit is included in the product package by
default. If you want to use another mounting method, you will need to
order the optional DIN-rail mounting or desk-mounting kits separately.
Contact a Moxa sales representative to place an order.



Wall Mounting (default)

The wall-mounting kit is included in the product package by default. To
attach the wall-mounting backets, first align them to the apertures on
the back panel of the V1200 and fasten the four M3 screws (torque
value of 4.5+-0.5 kgf-cm) included in the package to secure the
mounting brackets.

©@®°

To mount the V1200 on to a wall, use four M3 x 6 mm screws and a
torque value of 4.5+-0.5 kgf-cm. See Additional Screws for Wall and
Desk Mounting.

Desk Mounting (optional)

Step 1 Step 2

Use the four screws Use another four screws

(M3 x 5 mm) in the package to (M3 x 6 mm) to mount the
fasten the wall-mounting computer on to a wall orin a
brackets to the computer. cabinet.

To fix the V1200 on to a desk, use four M3 x 6 mm screws and a torque

value of 4.5+-0.5 kgf-cm. See Additional Screws for Wall and Desk
Mounting.

NOTE e+ Test the screw head and shank size by inserting the screws
into one of the keyhole shaped apertures of the wall-
mounting plates before attaching the plate to the wall.

e Do not drive the screws in all the way—leave a space of
about 2 mm to allow room for sliding the wall mount panel
between the wall and the screws.




Additional Screws for Wall and Desk Mounting

You will require additional screw for mounting the V1200 with the
mounting brackets on to a wall or a desk. These screws are not
included in the mounting kit package and must be purchased
separately. The specifications of the additional screws required are as
follows:

oD
Head Type: Pan/Doom

Head Diameter 5.2 mm < OD < 7.0 mm
Length > 6 mm

Thread Size: M3 x 0.5P

Recommended Fastening Torque:

4.5 = 0.5 kgf-cm

Length

M3x0.5P
DIN-rail Mounting (optional

The DIN-rail mounting kit is an optional accessory not included in the
product package and needs to be purchased separately.

To attach the DIN-rail mounting bracket to the computer, align the
mounting bracket to the mounting apertures on the back panel of the
computer. Fasten the five M3 x 4 mm screws in the mounting-kit
package to secure the bracket to the computer with a torque value of
4.5+-0.5 kgf-cm.

To mount the V1200 Series on to a DIN rail, ensure that the stiff metal
spring is facing upwards and follow these steps.

1. Pull down the slider of the DIN-rail bracket located — =
at the back of the unit.

2. Insert the top of the DIN rail into the slot just
below the upper hook of the DIN-rail bracket.

3. Latch the unit firmly on to the DIN rail as shown in
the illustrations below.

4. Once the computer is mounted properly, you will
hear a click and the slider will rebound back into
place automatically.




Connecting the Power

Connect the 24 to 110 VDC power line with M12 K-coded connector
(needs to be purchased separately) to the V1200 computer. If the
power is supplied properly, the "PWR” LED will glow a solid green after
a 25 to 30-second delay. The power input location and pin definition are
shown in the following figures:

2 9]

1 60b 4
Power Input _;@
24-110 VDC, M12
( T4
PIN | Con. (

1 Vi+ {xnz
2 V1- =
T wia
= T
5 N/A m

A ATTENTION

Safety First!
Be sure to disconnect the power cord before installing and/or
wiring your V1200 computer.

Grounding the Computer

There is a grounding connector located on the top panel of the
computer. Grounding and wire routing help limit the effects of noise
due to electromagnetic interference (EMI). Note that this product is
intended to be mounted on a well-grounded mounting surface, such as
a metal panel.

The power cord adapter should be connected to a socket outlet with an
earthing connection.

Earth Ground
(Green & Yellow)

Min. 18 AWG -lll
A ATTENTION

This product is intended to be mounted to a well-grounded
mounting surface such as a metal panel. Use the green-and-
yellow cable type minimum with American Wire Gauge (AWG)
18 for grounding.




Ethernet Ports

The pin assignments for the V1200 computer’s Ethernet ports are
shown in the following figure. If you are using your own Ethernet cable,
make sure that you match the pin assignment on the connector of the

Ethernet cable to the pin assignment shown below:

Definition
DA+
DA-
DB+
DB-
DD+
DD-
DC-
DC+

oooOoEO8|3

Serial Ports

2 3

14

8\e|e/5
7 6

LAN Ports x 2
(100/1000 Mbps, M12)

The computer comes with two serial ports on the bottom panel. Use a
serial cable to connect your serial device to the computer via a serial
port. The serial ports use DB9 connector and can be configured for RS-
232, RS-422, or RS-485 communication. The location and pin
assignments of the serial ports are shown in the following tables:

Serial Ports x 2
(RS-232/422/485, DB9)

Pin | RS-232 | RS-422 | RS-485 (4-wire) | RS-485 (2-wire)

1 DCD TXDA(-) TXDA(-) -

2 RxD TXDB(+) TDB(+) -

3 TxD RxDB(+) RXDB(+) DataB(+)

4 DTR RxDA(-) RxDA(-) DataA(-)

5 GND GND GND GND

6 DSR - - -

7 RTS - - -

8 CTS - - -




USB Port

The USB port, located on the front
panel, is a type-A USB 2.0 port which
you can use to connect a USB storage
device or a type-A USB compatible
device.

USB Port
(USB 2.0, type A)

Installing SIM Cards

The V1200 models come with 1 or 2 SIM card slots on the front panel.
When you install the SIM cards into the slots, ensure that they are
inserted in the correct direction as indicated on the label.

To install a SIM card, do the following:

Step 1 Step 2

Remove the screw securing the Remove the SIM card tray by
SIM card holder cover on the pressing the tray inwards and
front panel of the computer. releasing it to eject the tray, then

pulling out the tray.

Vi

= 2

ASSEMBLY

Step3

The SIM card tray can hold two
SIM cards, one on each side.
Install the first SIM card in the
SIM1 slot and the second SIM card
on the other side of the tray.

For additional details and instructions on installing the wireless
modules, see the V1200 Series User Manual.

-9-



NOTE When the V1222-CT-T model is used with a 5G module, LTE
communication is supported through backward compatibility.
Therefore, if you are using an LTE-only SIM card, ensure that
the SIM card is inserted into the 5G SIM slot for proper
operations.

Installing a MicroSD Card

The V1200 comes with a microSD socket for storage expansion. The
microSD socket is located on the lower part of the front panel. To install
the card, remove the screw and the protection cover to access the
socket, and then insert the microSD card into the socket. You will hear
a click when the card is in place. To remove the card, push the card in
before releasing it.

Console Port

The console port is an RS-232 port located on the lower part of the
front panel. To install the card, remove the screw and the protection
cover to access the console port. You can connect a 4-pin pin header
cable and use the port for debugging issues or system image upgrades.

p Pin Signal
5 1 TxD
5 2 RxD
] 3 NC
4 GND
Specifications
Input Voltage 24 to 110 VDC
Power Consumption 15W
Operating Temperature -40 to 70°C (-40 to 158°F)
Storage Temperature -40 to 85°C (-40 to 185°F)

Refer to the datasheet for the complete set of specifications.
FCC Statement

A ATTENTION

Operation of transmitters in the 5.925 to 7.125 GHz band is
prohibited for control of or communications with unmanned
aircraft systems.

- 10 -



CE/UKCA Statement

A

ATTENTION

1.

The device is for indoor use only when operating in the
following frequency range:

5150 to 5350 MHz

5945 to 6425 MHz, applicable in countries that
support Wi-Fi 6E.

5925 to 6425 MHz.

5250 to 5725 MHz, when the device is installed in on-
road vehicles, trains, and aircraft.

RF Exposure warning

This device meets the EU requirements (2014/53/EU)
on the limitation of exposure of the general public to
electromagnetic fields by way of health protection.
The device complies with RF specifications when the
device is used at 20 cm away from your body.

Wireless Operational modes
Cellular
Device with 5G module:

5G NR (Sub 6G): n1, n3, n7, n8, n20, n28, n38, n40,

n41, n75, n76, n77, n78

LTE: B1, B3, B7, B8, B20, B28, B32, B34, B38, B40,

B41, B42, B43

WCDMA: B1, B8

TX Power: Follow the 3GPP standard

> WCDMA 24 dBm +1.7 dB/-3.7 dB

» LTE/5G bands 23 dBm +£2.7 dB

» LTE/5G NR HPUE bands (for B41, n41, n77, n78)
26 dBm +2/-3 dB

» GNSS: GPS/ GLONASS/ Beidou/ Galileo

Device with 4G module

LTE: B1, B3, B7, B8, B20, B28

WCDMA: B1, B8

GSM: GSM 900, GSM 1800

TX Power: Follow 3GPP Standard

» WCDMA 24 dBm +1.7 dB/-3.7 dB

» LTE bands 23 dBm +2.7dB

» GSM 33 dBm £2 dB

» GNSS: GPS/GLONASS/Beidou/Galileo

WLAN (Wi-Fi)

Frequency Range: 2412 to 2472 MHz, 5180 to 5320
MHz, 5500 to 5700 MHz, 5955 to 6415 MHz

TX Power: Follow the ETSI standard

2.4 GHz: 20 dBm

» 5 GHz: 23 dBm

» 6 GHz: 23 dBm

v

-11 -




	V1200 Series Quick Installation Guide
	Overview
	Package Checklist
	Panel Layouts
	LED Indicators
	Dimensions
	Installing the V1200 Series Computer
	Connecting the Power
	Grounding the Computer
	Ethernet Ports
	Serial Ports
	USB Port
	Installing SIM Cards
	Installing a MicroSD Card
	Console Port
	Specifications


